## ERIE COUNTY WATER AUTHORITY



## INTEROFFICE MEMORANDUM

February 19, 2019

To: Terrence D. McCracken, Secretary to the Authority

From: Leonard F. Kowalski, Senior Distribution Engineer

Subject: Contract WSA-013

Water System Improvements, Large Valve Replacements,

City of Lackawanna and Towns of Alden, Amherst, Cheektowaga,

Hamburg, and West Seneca. ECWA Project No. 201800081

On Tuesday, February 5, 2019, the Authority received five (5) bids for the above referenced contract. The Consultant has reviewed the bids, a mathematical check has been performed, and the apparent lowest responsible bidder is E&R General Construction, Inc. Enclosed please find a copy of the letter of recommendation from the Consultant, Wm. Schutt & Associates, as well as the bid tabulation sheet for your use and information.

E&R General Construction, Inc. is an established contractor with the Authority and has performed work in a competent and acceptable manner on a number of different contracts. They have good understanding of the scope and requirements for this contract. The Engineer's estimate for the contract was \$2,229,675.00 and the bid by E&R General Construction, Inc. is \$1,448,000.00.

E&R General Construction, Inc. provided adequate WMBE documentation, approved by Director of EEO (ECWA), insurance, approved by Claims Representative/Risk Manager, and proof of apprenticeship program, approved by Coordinator of Employee Relations.

We therefore, recommend award of Contract, WSA-013 to E&R General Construction, Inc. in the amount of \$1,448,000.00, subject to legal review.

Attached please find the following documents:

- 1. ECWA Authorization Form.
- 2. ECWA Recommendation for Award of Contract form.
- 3. Letter of recommendation from Wm. Schutt & Associates dated February 12, 2019.
- 4. Bid Tabulation.

LFK:jmf Attachment cc: R.Stoll

CONT-WSA-013-1801-I-186

## ERIE COUNTY WATER AUTHOIRTY RECOMMENDATION FOR AWARD OF CONTRACT

Contract: Project Description:		Project No.: 201800081  nts, Large Valve Replacements, City of f Alden, Amherst, Cheektowaga, Hamburg,				
CONTRACT AWARD Contractor/Supplier: E&R Construction, Inc. Award Amount: \$1,448.000.00						
E&R General Constr 4 <sup>th</sup> Generation Const Kandey Company, In New Frontier Excava	Bidder ruction, Inc. ruction, Inc. nc. ating and Paving, Inc. chnologies Corporation	Date of Bid Opening: 02/05/2019  Total Bid Amount \$1,448,000.00 \$1,756,125.00  ***\$2,413,355.00 \$2,460,100.00   \$2,794,750.00  X Consultant's Recommendation				
Capital 0	O & M Unit No.: <u>25</u> O & M Unit No.:	Budget Item No.:				
	VAL	myes festen Date: 2/19/19 GRAM APPROVAL Date 2/19/19				
Remarks:						



Project Management
Construction Support Services
Landscape Architecture
SWPPP Services

February 12, 2019

Russell J. Stoll, P.E. Executive Engineer Erie County Water Authority 3030 Union Road Cheektowaga, New York 14227

Re:

**Award Recommendation** 

Contract WSA-013 LARGE VALVE REPLACEMENTS ECWA Project No. 201800081

Dear Mr. Stoll:

Five (5) bid proposals for the above referenced project were opened and read aloud at 11:00 AM on February 05, 2019 in the Erie County Water Authority Cashier's Office, Ellicott Square Building, 295 Main Street, Room 350, Buffalo, New York 14203.

Wm Schutt Associates have reviewed the bid proposals and determined that the lowest bid was submitted by E&R Construction Inc. in the amount of \$1,448,000.00. We did note that there was a minor mathematical error in the bid of the 3<sup>rd</sup> low bidder, Kandey Co., and correction of that mathematical error did not change the ranking of the bids received nor preclude E&R Construction from being the low bidder. We have prepared and attached an itemized bid tabulation within which we have indicated the correction made to Kandey's bid.

Further Wm Schutt has reviewed the qualifications of E&R Construction Inc. and determined that the company has been a reputable contractor for many years and has successfully completed waterline installations for various municipalities and agencies throughout Western New York including the Authority. We have also reviewed the Authority's procedures and the project scope with the contractor and believe they are fully aware of the job requirements and are prepared to meet them.

In conclusion, Wm Schutt hereby recommends, pending the Authority's review and approval of respective insurance certificates, M/WBE forms and apprenticeship information, that the construction contract for Contract WSA-013 be awarded to the lowest responsible bidder, E&R Construction Inc. in the amount of \$1,448,000.00.

Continued ...

Russell J. Stoll, P.E. Award Recommendation Contract WSA-013 February 12, 2019 Page 2 of 2

Respectfully submitted,

William E. Schutt, P.E.

President

Encl.

CC: Leonard F. Kowalski, PE, ECWA

Steven W. Denzler, PE, ECWA

18024

ERIE COUNTY WATER AUTHORITY Water System Improvements Large Valve Replacements Contract WSA - 13 Project No. 201800881 Bid Opening: February 05, 2019 11:00 a.m.		ENGINEER'S ESTIMATE December 12, 2018	EER'S NATE 12, 2018	E & R Construction, Inc. 38 St. David's Drive West Seneca, NY 14224 5% Bid Bond	tion, Inc. s Drive NY 14224 ond	4th Generation Const. Inc. 5650 Simmons Avenue Niagara Falls, NY 14304 5% Bid Bond	onst. Inc. Avenue IY 14304	Kandey Company, Inc. 19 Ransier Drive West Seneca, NY 14224 5% Bid Bond	apany, Inc. ar Drive , NY 14224 Bond	New Frontier Excavating 7003 Brown Hill Road Boston, NY 14025 5% Bid Bond	Excavating n Hill Road N 14025 Bond	Catco Company, Inc 1266 Townline Road Alden, New York 14004 5% Bid Bond	any, Inc ne Road ork 14004 sond
Item   Bid Item Description	City Unit	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
4A   Test Pit Excavation and Backfill	65 Ea	\$600.00	\$39,000.00	\$ 200,000 \$	13,000,00   \$	5 200.000   \$	13,000.00	3,400,00	\$ 221,000.00	\$ 1,943.45	\$ 126,324.25	\$ 1,500.00 \$	97,500,00
5A Rock Excavation	75 CY	\$500.00	\$37,500.00	\$ 150.00 \$	11,250.00   \$	5 150.00 \$	11,250.00	\$ 355.00	\$ 26,625,00	\$ 200.00	ı	300,00	
1	1000 CY	\$40.00	\$40,000.00	\$ 29.00 \$	29,000.00		20,000,00	\$ 43.00	\$ 43,000.00	\$ 48.75	\$ 48,750.00	\$ 69.00	69.000.00
11A1 Concrete Sidewalk		\$50.00	87,500.00	\$ 60.00 \$				\$ .185.00	\$ 27,750.00	\$ 108.06	\$ 16,209.00	\$ 165.00 \$	24,750,00
11A2  Concrete Driveway		\$75.00	\$5,625,00	\$ 80,00 \$	_	75.00			\$ 15,000.00	\$ 121.25	\$ 9,093.75	\$ 200.00	15,000.00
		\$150.00	\$37,500.00	\$ 100.00   \$	25,000.00		-	_	\$ 51,250,00	\$ 140.70	\$ 35,175,00	\$ 165.00 \$	
	200 LF	\$75,00	\$15,000.00	\$ 75.00 \$	15,000.00	5 75,00 \$	-		\$ 15,000,00	00.06 \$	\$ 18,000.00	\$ 110.00 \$	
11B2 Asphalt Driveway, Parking Lot, Sidewalk		\$75.00	\$26,250,00	\$ 75.00 \$	$\blacksquare$		$\vdash$		\$ 37,450.00	\$ 82.54	\$ 28,889.00	\$ 130,00 \$	
1153 Asphalt Pavement Top Course	1200 SY	\$25.00	\$30,000.00	\$ 25.00 \$	_		30,000,00	\$ 37.00	\$ 44,400,00	\$ 32.27	\$ 38,724,00	\$ 31.00 \$	
1184 Asphalt Pavement Binder Course	اا	\$35.00	\$8,750.00	\$ 25.00 \$	6,250.00	\$ 25.00 \$		_	\$ 42,500.00	\$ 33.02	\$ 8,255.00	\$ 59.00	14,750.00
11B5ajAsph Pvmt Base Course in County/State Roads		\$75.00	\$11,250.00	\$ 75.00 \$	11,250.00		Н	_	\$ 56,700.00	\$ 92.48	\$ 13,872,00	\$ 136.00 \$	20,400.00
11B5b Asph Pvmt Base Course in Local Roads	100 SY	\$50,00	\$5,000,00	\$ 50.00 \$	5.000.00 🕴 💲	\$ 50.00   \$	5,000.00	_	\$ 17,500.00	00'99 \$	\$ 6,600,00	\$ 85.00 \$	ı
11B6 Cold Milling of Asphalt Pavement	1100 SY	\$20.00	\$22,000.00	\$ 20.00 \$	22,000.00   \$		22,000.00	щ	\$ 36,300.00	\$ 23.09	\$ 25,399.00	\$ 25.00	27,500.00
	200 LF	\$60.00	\$12,000.00	\$ 20.00 \$	4,000.00	\$ 20,00 \$	4.000.00	-	\$ 16,400,00	\$ 20.00	\$ 4,000.00	\$ 96.00	19.200,00
	50 CY	\$350.00	\$17,500.00	\$ 100.00 \$	ш		10,000.00	\$ 305.00	\$ 15,250.00	\$ 382.50	\$ 19,125.00	\$ 630.00 \$	1
_1	S.	\$160,000.00	\$160,000.00	\$ 75,000.00 \$	-	\$ 124,000.00 \$		\$ 144,890.00	\$ 144,890.00		\$ 187,007.16	\$ 185,000,00 \$	185,000.00
$\neg$	1 LS	\$170,000.00	\$170,000.00	\$ 98,000.00 \$	-			- 1	\$ 167,350.00	\$ 212,253.25	\$ 212,253.25	\$ 194,000.00 \$	` -
コ	11 LS	\$170,000,00	\$170,000.00	\$ 84,000,00 \$	_	120,000,00			\$ 133,060.00	\$ 177,269,53	\$ 177,269,53	\$ 150,000,00 \$	ľ
7	1 LS	\$135,000.00	\$135,000.00	\$ 65,000.00 \$	-	_		٦	\$ 100,100,00	\$ 136,336,70	136.336.70	172,000.00	7
1	STI	\$65,000,00	\$65,000.00	\$ 65,000.00 \$	65,000.00		64,000.00	- 1	\$ 48,140.00	\$ 69 161.01	69,161.01	91,000.00	Ì
14F Site 3 - William Street and Union Road	S 6	\$200,000.00	\$200,000.00	\$ 78,000,00 \$	78.000.00	5 144,000.00 \$	144,000,00	\$ 242,780.00	\$ 242,780.00	\$ 238,132,31	\$ 238,132.31	\$ 312,000.00 \$	9
7	, ,		\$75,000,00	┿	[	4	J	1	\$ 48 820 00	\$ 64.672.39	1	89,000,00	80,000,00
14 Site 4C - Lake Shore Road (north of NY 179)	1 1.8		\$85,000,00	\$ 45,000.00 \$		\$ 56,000.00 \$	56,000.00	-	\$ 40,960.00	\$ 57,251.96		89,000.00	1
14J Site 4D - Lake Shore Road (south of NY 179)	1 1.5	\$90,000,00	\$90,000,00	\$ 48,000.00 \$	48,000.00	\$ 80,000.00 \$	80,000,00	\$ 57,820.00	\$ 57,820.00	\$ 80,111.47	\$ 80,111,47	\$ 98,000.00	l
	1 5.5	\$200,000.00	\$200,000.00	\$ 85,000.00	85,000.00	\$ 154,000.00 \$	154,000,00	\$ 233,150.00	\$ 233,150.00	\$ 192,856,68	\$ 192,856.68	\$ 217,000.00 \$	14
$\neg$	1 LS		\$80,000.00	\$ 67,000.00 \$		\$ 68,000.00 \$	→		\$ 65,590.00	\$ 76,715.97	\$ 76,715.97	\$ 97,000.00	97,000.00
╗	SJ L		\$50,000.00	\$ 65,000.00 \$	65,000.00	\$ 40,000.00 \$	$\dashv$	- 1	\$ 25,800,00	\$ 40,565.02	\$ 40,565.02	\$ 75,600,00 \$	75,600.00
14N Site 8 - 8100 Transit Road (south of Maple Road)	: 1	\$16	\$165,000,00	\$ 147,000.00 \$	147.000.00	\$ 112,000.00 \$	_	\$ 119,350,00	\$ 119,350.00	\$ 158,861,68	\$ 158,661,68	\$ 173,000.00	-
7		\$200.00	\$24,000.00	\$ 200.00 \$	``	\$ 500.00 \$	-	610.00	\$ 73,200,00	\$ 707.86	\$ 84,943.20	715.00	\$ 85,800.00
	60 Hrs	\$180.00	\$10,800.00	\$ 150.00 \$	9,000.00	200.00	12,000.00	300.00	\$ 18,000.00	\$ 509.61	\$ 30,576,60	\$ 430.00 \$	
17A   Contingency Allowance	1 LS	\$150,000.00	\$150,000.00	\$ 150,000.00 \$	150,000.00	\$ 150,000.00 \$	150.000.00	\$ 150,000.00	\$ 150,000.00	\$ 150,000,00	\$ 150,000.00	\$ 150,000.00	\$ 150,000,00
And the first control of the first of the fi												***************************************	
TOTAL BID AMOUN!			\$ 2,229,675.00	+	\$1,448,000.00	51	\$1,756,125.80		\$2,413,355,00		\$ 2,460,100.00		\$2,794,750.00
				Bid Ranking	1	_	7		3		4		S

Note: Shadod colls refer to corrected figures due to Bidder not using at least the fixed minimun unit price.